Impulse and Momentum

1. An average force of 100 N acts for a time interval of 0.02 second on a golf ball that is initially at rest. Calculate

a. the impulse acting on the golf ball.

b. the change in momentum of the golf ball.    

2. A force of 500 N acts for a time interval of 0.001 second on an object of mass 0.20 kg that was initially at rest. Calculate the speed of the object after the force acts.    

3. A lump of clay of mass 0.1 kg is thrown with a speed of 9 m / s against a rigid wall where it comes to rest. Calculate the change in momentum of the lump of clay. 

4. Calculate the momentum of a golf ball of mass 0.045 kg that moves at a speed of 40 m / s. 

5. If the golf ball in the previous problem strikes a tree and rebounds with the same speed it had before the collision but in the opposite direction, calculate the change in momentum.    

6. The collision of the golf ball with the tree described in the previous problem occurred over 0.01s. Calculate the force that the tree exerted on the golf ball during the collision.    

